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[Maximum Marks : 75

Note : Attempt questions from all Sections as per

instructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer is required not
Ix5=15

Differentiatc between string and character array. 3

exceeding 75 words.

What is generic pointer ? How can it be converted

to a specific type of pointer ? 3
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What s the output ? 3
thinclude < stdio.n>

il func (int);

main( )

|
]

inta=2;
printf ("%”", func(a));
return 0,

}

int func{int a)

if(a=1)

return func (- a) + 10;
¢lse

returnf);

-

Explain the difference between malioe () and
calloc( ) function. 3

Explain the importance of the # dehine

preprocessor directive. 3

Section-B
(Short Answer Questions)
Attempt any fwo questions out of the following
three questions. Each question cames 7' miarks.
Short answer is required not exceeding 200 words.
TV x2-:18
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Wnite a program to sort an avay.
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T
1

Write a € program to find the reverse of cach word

of a string (how are you : output - woh era uoy). 74

Differentiate between rewind( ) and fseck( ). Can

fseek( ) work as an altermative to rewind( ). If yes.

T

why ? 142

» Section-C
(Detailed Answer Questions)

Attempt any three questions out of the following

five questions. Each question carries 15 marks.

Answer is required in detail.

(a)

(b)

(a}

(b)

15%345
Why are arrays needed ? Write a program to
calculate the number of duplicate entrics in
an array. 74
With the help of an example, explain how
pointers can be used to dynamically allocate

space for two-dimensional array. 7Y

What do you understand by EOF 7 Write a
program to read a text file, convert all the
lower case characters into upper casc. 7%
What is string ? Explain any five library

functions of string. 7Y

https://www.ccsustady.com
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(a)

(b)

(a)

(b)

(2)

(b)

https://www.ccsustudy.com
(4)

Create a Structure BANK to maintain the

records of a bank customers. It has the

following ficlds CUST-ID, NAML, ACC-

TYPE, BALANCE.

(1) A new record is added when a customer
open an account

(11) A existing record 1s updated when user
deposits or withdraw an amount

Create Menu-Driven Program. Vi

What do you understand by ponters ” Write a

program to count the number of characters,

words and lines in the text using pointer. 7V

What 1s macro ? Explain the difference
between object macro and function macro
with example. 5
Write a program to swap two numbcrs using
pointer with structure. 10

Explain the usec of bitwise operators in
programming with suitable example. T
Write a program that reads a binary file that
stores employees records and prints on the
screen the number of records that are stored
in the file. 7

e “ 18006-4-
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C Programming
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(New)
[Maximum Marks : 75

Note : Attempt questions from all Sections as per

instructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer is required not
Ix5=15

Differentiatc between string and character array. 3

exceeding 75 words.

What is generic pointer ? How can it be converted

to a specific type of pointer ? 3
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What s the output ? 3
thinclude < stdio.n>

il func (int);

main( )

|
]

inta=2;
printf ("%”", func(a));
return 0,

}

int func{int a)

if(a=1)

return func (- a) + 10;
¢lse

returnf);

-

Explain the difference between malioe () and
calloc( ) function. 3

Explain the importance of the # dehine

preprocessor directive. 3

Section-B
(Short Answer Questions)
Attempt any fwo questions out of the following
three questions. Each question cames 7' miarks.
Short answer is required not exceeding 200 words.
TV x2-:18
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Wnite a program to sort an avay.
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T
1

Write a € program to find the reverse of cach word

of a string (how are you : output - woh era uoy). 74

Differentiate between rewind( ) and fseck( ). Can

fseek( ) work as an altermative to rewind( ). If yes.

T

why ? 142

» Section-C
(Detailed Answer Questions)

Attempt any three questions out of the following

five questions. Each question carries 15 marks.

Answer is required in detail.

(a)

(b)

(a}

(b)

15%345
Why are arrays needed ? Write a program to
calculate the number of duplicate entrics in
an array. 74
With the help of an example, explain how
pointers can be used to dynamically allocate

space for two-dimensional array. 7Y

What do you understand by EOF 7 Write a
program to read a text file, convert all the
lower case characters into upper casc. 7%
What is string ? Explain any five library

functions of string. 7Y
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(a)

(b)

(a)

(b)

(2)

(b)
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Create a Structure BANK to maintain the

records of a bank customers. It has the

following ficlds CUST-ID, NAML, ACC-

TYPE, BALANCE.

(1) A new record is added when a customer
open an account

(11) A existing record 1s updated when user
deposits or withdraw an amount

Create Menu-Driven Program. Vi

What do you understand by ponters ” Write a

program to count the number of characters,

words and lines in the text using pointer. 7V

What 1s macro ? Explain the difference
between object macro and function macro
with example. 5
Write a program to swap two numbcrs using
pointer with structure. 10

Explain the usec of bitwise operators in
programming with suitable example. T
Write a program that reads a binary file that
stores employees records and prints on the
screen the number of records that are stored
in the file. 7
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(20518) ROIl NO. coceiiiisnnennssnens
BOA-1 Sem. 3. What is Read Only Memory ? How PROM, EPROM,

EEPROM differ from each other ?

18007

B. C. A. Examination, May 2018 4. Whatis flip-flop ? Explain T flip-flop.
DIGITAL ELECTRONICS AND COMPUTER (
ORGANIZATION 5. Using K-map method simplify the following Boolcan
' (BCA-204) function :
(New) FIABCD)=Em(0,2,3,6,7) + Zd(8. 10,11, 15)
Time : Three Hours] {Maximum Marks : 75

Section-B

Note: Attempt questions from all Sections as per . (Short Answer Questions)
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instructions. Atlempt any fwo questions out of the followmyg three
questions. Each question carries 7' marks.  Short
Section-A answerisrequired not exceeding 200 words. 74> 2=15
(Very Short Answer Questions) 0. What is race around condition ? Constiuict master
Attempt all the five questions. Each question carrics slave flip-flop using SR flip-flop. f
3 marks. Very Short answer is required not exceeding
75 words. 3x5=15 7. Whatis track and sector ? How data are stored in hard
1. What are universal gates ? Explain how basic gates

disc, floppy disc and CD ROM ? Explain.
canbe realize using NAND and NOR gate.

8. Using eight 64x8 ROM chips with an enable input and
decoder, constructa 512x8 ROM.

[ ]

Design and draw the logic diagram of full adder.

18007
https://www.ccsustudy.com https:/fwww.ccsustudy.com
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Section-C 12. Explain how 3 to 8 decoder function can be obtained

(Detailed Answer Questions) froma demultiplexer.

Attempl any three questions oul of the following five
13. Simplify the following Boolean function : RES

(a) WX(Z'+YZ)+X(W+Y'Z)
(b) XY+XY+XY'

(c) XY'Z+X'Y'Z+XYZ

(d)y (X+Z') (Y+Z))

(¢) (A+D)(C+D)(A+B'+C).

questions. Each question carmes 15 marks. Answer is
required indetail. 15%3=45
9. Design a synchronous sequential circuit with input
Aand B and output Y. Initially and at any time if both
the inputs are 0, then the output Y is equal to 0. When
Aor Bbecome 1, Y becomes 1 when other input also
become |, Y become 0. The output stay at O unit circunt

goes back to initial state.

-

—
—
e

Discuss vanous semiconductor cells. Also discuss a

RAM organization. If 16K *x8 memory chips are used

wod ApmIsnsad mmm//:sdny
wod ApmIsnsad- mmm// sdny
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to construct 64K < 16 memory :
( (a) Find how many chips will be needed
(b) Draw block diagram showing connections of

chipsto address lincs. https://www.ccsustudy.com

11. Explain and compare sequential and combinational
circuit, Using full adder, design a four bit adder and

subtractor circuit.

18007 ' 18007-4
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B. C. A Examination, May 2018
Financial Accounting & Management
(BCA-205)

(New)
Time - Three Hours| [Maximum Marks : 75

Note : Attempt  questions from all Sections as per

nstructions.

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question

carrics 3 marks. Very short answer is required not

exceeding 75 words. Ix5=15
1. What s 'going concern concept' of Accounting ?
2. Draw a 'balance sheet' with imaginary figures.

https://www-ccsustudy.com

https://www.ccsustudy.com

(2)
3. What do you mean by "break-even pomnt' ?
4. How the working capital is calculated ?
5. Explain the term "point of indifference’,
Section-B

(Short Answer Questions)
Attempt any fwo questions out of the following
three questions. Each question carries 7' marks.
Short answer is required not exceeding 200 words.
7V2%x2=15
What is 'double entry system’ of Accounting ? Give
the rules of debit and credit.

Wwod ApmIsnsad mmm//sdny
&
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1. What is 'receivables management' ? What are its

objectives ?

8. A company has issued 1,000 cquity shares of T 100

each, as fully paid-up. It has eamed a profit of

¥ 10,000 after tax. The market price of these shares is

¥ 160 per share. Find out the cost of equity capital
before and after tax, assuming a tax rate of 50%.

18009
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Section-C 13

(Detailed Answer Questions)
Attempt any three questions out of the following
five questions. Each question carrics 15 marks.

Answer is required in detail. 15x3=45

What 1s capitalization ? Is it different from capital

»
structure ?

Write a detailed notc on "Application of Computer

in Accounting'. https://www.ccsustudy.com

"Finance is the life of industry.” Elucidate this

wod ApmIsnsad- mmm// sdny
Wwod ApmIsnsad mmm//sdny

statement with suitable examples.

Calculate the economic order quantity from the
following information and also state the number of
orders to be placed in a year:

Consumption of materials per annum =10,000kgs.
Cost of placing per order =X 25

Cost of matenial perkg. = YX2

Storage cost (on average inventory) = 4%

https://www.ccsustudy.com

https://www.ccsustudy.com
(4)

Balance Sheets of M/s A & B as on Ist Jun, 2006
and Y1st Dec. 2016 were as follows ¢

Balance Sheet

Liabilities 1116 | 31.12.16] Asscts 1.1 ;:T LU T
X T 4 T

Creditors 40,000 | 44.000]Cash WK 7000
Mrs. A's Loan] 25,000 Debtors VMM SO
L.oan from Stock VAN 250000
Bank 40,000 | SO.000 Machines | BO000O] S5 .000
Capnal 1,255,000 1 1,53,000] Land A E | S0.000
Buildings | 35000] 60,000

230,000 | 2,47 000 230,000 | 2 47 000

During the year, machines costing ¥ 10,000

(accumulated depreciation € 3,000) was sold for
¥5.000. The provision for déprccwtiun agamst

machinery as on 1.1.16 was ¥ 25,000 and on

311216 T 40,000. Net profit for the year 2016

amounted to ¥ 45,000.

You are required to prepare :

(a) A statement of change in working capital

(b) A funds flow statement.

180:09-4-
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B. C. A. Examination, May 2018
MATHEMATICS-1I
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¥

|
n

[Maximum Marks :

Attempt questions from all Sections as per

instructions.

Section-A

(Very Short Answer Questions)

Attempt all the five questions. Each question

carries 3 marks. Very short answer is required.
3x5=15
Define the following with examples : 3

(i) Proper subset

(i) Complement of a set

(iii) What is the set {x:xe R, x> =9, 2x=4d}?

https://www.ccsustudy.com
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2. Let f:4-» B such that f(x)=x-land g: B> C
such that g(y)=y?. Find fog(y). 3

3. Show that a linearly ordered poset is a
distributive lattice. 3

ooaly ou  du

4. Ifu=tan™'| = | show that x—+ p—— =0, 3

x ox Ty
5 Evaluate LME sin® aOd
. L raQdr. 3
Section-B
) (Short Answer Questions)
Attempt any rwo questions out of the following
three questions. Each question carrics 7% marks.
Short answer is required. ¢ 7Vax2=15

6.  Show that the direction cosines of a line whose
direction ratios are a,b,¢ are : 7Y%
—_— b ¢

Juz +b% 4?2 v'raz +b? 42 \,l'fuz + b2 +c?

7. Inagroup of 50 people, 35 spcak Hindi, 25 speak both
English and Hindi and all people speak at least one of the
two languages. How many people speak only English and
not Hindi? How many speak English ? 7%

18010
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o

wod Apmsnsad- mmm// sdny



-

wod ApmIsnsad mmm//:sdny

https://www.ccsustudy.com

(3)
8.  Show that sin x(I +cosx) isamaximum at x = % 7%
Section-C

(Detailed Answer Questions)

Attempt any rhree questions out of the following
five questions. Each question carries 15 marks.

Answer is required in detail. 15%3=435

9. Find the acute angle between two lines whose direction
cosines are given by the relation /4 m+n=0 and
12 +m? —n? =0. httpsy//www.ccsustudy.com 15
10.  Change the order of integration : 15
a uz fx
J’O j &(x, y)dxdy.
: apa-x pa-x-y o
11. (a) Evaluate Jn-[‘: L x“dbdydz. 7V
1 pst
(b) Evaluate -{u J-[: e’ “dxdy. TV
18010
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12. (a) Find the shortest distance between the lines: 7Y
x-1 y=2 =z-=3 x=-2 y-4 2-5
e T |} 1) IR : .
2 3 4 3 4 5

(b) Showthatthe plane 2x~2y+ z 412 = 0 touches

1 r
the sphere x* +y2 +z°-2x-4y+2z-3=10.

1%
- . . . gl d7y 20 =
13. (a) ‘Transform the ¢quation x -‘};—2—- ba“y=0
by the substitution x = l [RE'
(b) If f(x)= ]og[i—i—":]. show that ; 7V
_.1' .
_ X+
S(x)+ f(y)= ~ | .

1+ xy

18010-4-
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[Maximum Marks :

Attempt questions from all Sections as per

instructions.

Section-A

(Very Short Answer Questions)

Attempt all the five questions. Each question

carries 3 marks. Very short answer is required.
3x5=15
Define the following with examples : 3

(i) Proper subset

(i) Complement of a set

(iii) What is the set {x:xe R, x> =9, 2x=4d}?
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2. Let f:4-» B such that f(x)=x-land g: B> C
such that g(y)=y?. Find fog(y). 3

3. Show that a linearly ordered poset is a
distributive lattice. 3

ooaly ou  du

4. Ifu=tan™'| = | show that x—+ p—— =0, 3

x ox Ty
5 Evaluate LME sin® aOd
. L raQdr. 3
Section-B
) (Short Answer Questions)
Attempt any rwo questions out of the following
three questions. Each question carrics 7% marks.
Short answer is required. ¢ 7Vax2=15

6.  Show that the direction cosines of a line whose
direction ratios are a,b,¢ are : 7Y%
—_— b ¢

Juz +b% 4?2 v'raz +b? 42 \,l'fuz + b2 +c?

7. Inagroup of 50 people, 35 spcak Hindi, 25 speak both
English and Hindi and all people speak at least one of the
two languages. How many people speak only English and
not Hindi? How many speak English ? 7%

18010
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8.  Show that sin x(I +cosx) isamaximum at x = % 7%
Section-C

(Detailed Answer Questions)

Attempt any rhree questions out of the following
five questions. Each question carries 15 marks.

Answer is required in detail. 15%3=435

9. Find the acute angle between two lines whose direction
cosines are given by the relation /4 m+n=0 and
12 +m? —n? =0. httpsy//www.ccsustudy.com 15
10.  Change the order of integration : 15
a uz fx
J’O j &(x, y)dxdy.
: apa-x pa-x-y o
11. (a) Evaluate Jn-[‘: L x“dbdydz. 7V
1 pst
(b) Evaluate -{u J-[: e’ “dxdy. TV
18010
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12. (a) Find the shortest distance between the lines: 7Y
x-1 y=2 =z-=3 x=-2 y-4 2-5
e T |} 1) IR : .
2 3 4 3 4 5

(b) Showthatthe plane 2x~2y+ z 412 = 0 touches

1 r
the sphere x* +y2 +z°-2x-4y+2z-3=10.

1%
- . . . gl d7y 20 =
13. (a) ‘Transform the ¢quation x -‘};—2—- ba“y=0
by the substitution x = l [RE'
(b) If f(x)= ]og[i—i—":]. show that ; 7V
_.1' .
_ X+
S(x)+ f(y)= ~ | .

1+ xy
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Note : Attempt questions [rom all Sections as pep

wod ApmIsnsad mmm//sdny

instructions.

Section-A
(Very Short Answer Questions)
Answcr all the five questions. Each question carries

3 marks. Very short answer is required . Ix5=15

1. Define Scientific Management.

https://www.ccsustudy.com
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18008
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(2)

What 1s Job Satisfaction ?

What do you mcan by Job enrichment”?

Explain Recruitment.

Define the levels of conflicts,

Section-B
(Short Answer Questions)
Answer any two questions out of the follow ing three
questions. Each question carries 7% marks. Shon
answer 1s required. . T¥=2=15
Compare and contrast two diflerent approaches 1o

personality.

What are the methods adopted to prevent and manage

stress ?

Give a detailed account on emergence of infonnal

leaders and working norms in Indian organizations.

https:/fwww.ccsustudy.com
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Section-C 13. Write short notes on the followinyg :

(Detailed Answer Questions) (a) Maslow's need hierarchy theory of motivation

. e : b) Traits approach of lcadershi
Answer any three questions out of the following five (b) Pp p

questions. Each question carries 15 marks. Answer 1s

required in detail. 15%3-45
= =
= s
“The stydy of Organizational Behaviour s essemtial S o
tor all managers.” Justify the statement by explaining = e
= =
its nature and scope. = &
] Lyl
. o o
U L
7 =
4 “a
Explain the factors influencing perception and the + & =
s =
rclevance of impression management in an S g
= =

organization.

What are the functions performed by groups ? How

can group decisions be made more effective ?

What do you mean by conflict ? Define the conflict

resolution techniques.

8008-4-
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